CARPATHIAN J. MATH. Volume **38** (2022), No. 2, Pages 383 - 390 Online version at https://semnul.com/carpathian/ Print Edition: ISSN 1584 - 2851; Online Edition: ISSN 1843 - 4401 DOI: https://doi.org/10.37193/CJM.2022.02.09

Oscillations of second-order noncanonical advanced difference equations via canonical transformation

G. E. CHATZARAKIS¹, N. INDRAJITH², S. L. PANETSOS¹ and E. THANDAPANI³

ABSTRACT. This paper introduces a new improved method for obtaining the oscillation of a second-order advanced difference equation of the form

 $\Delta(\eta(n)\Delta\chi(n)) + f(n)\chi(\sigma(n)) = 0$

where $\eta(n) > 0$, $\sum_{n=n_0}^{\infty} \frac{1}{\eta(n)} < \infty$, f(n) > 0, $\sigma(n) \ge n + 1$, and $\{\sigma(n)\}$ is a monotonically increasing integer sequence. We derive new oscillation criteria by transforming the studied equation into the canonical form. The obtained results are original and improve on the existing criteria. Examples illustrating the main results are presented at the end of the paper.

1. INTRODUCTION

Consider the second-order advanced difference equation

(E)
$$\Delta(\eta(n)\Delta\chi(n)) + f(n)\chi(\sigma(n)) = 0, \ n \ge n_0,$$

where $n \in \mathbb{N}(n_0) = \{n_0, n_0 + 1, ...\}, n_0$ is a positive integer.

Throughout the paper, we assume that:

- (1) $[(C_1)]$
- (2) $\{\eta(n)\}\$ and $\{f(n)\}\$ are positive real sequences for all $n \in \mathbb{N}(n_0)$;
- (3) {σ(n)} is a monotonically increasing sequence of integers with σ(n) ≥ n + 1 for all n ∈ N(n₀);
- (4) $\sum_{n=n_0}^{\infty} \frac{1}{\eta(n)} < \infty.$

By a solution of (E), we mean a nontrivial sequence $\{\chi(n)\}$ that satisfies (E) for all $n \in \mathbb{N}(n_0)$. A solution $\{\chi(n)\}$ of (E) is said to be *oscillatory* if it is neither eventually negative nor eventually positive. Otherwise, it is called *nonoscillatory*. Equation (E) is called *oscillatory* if all its solutions are oscillatory.

It is known that (E) is in the canonical form, if

(1.1)
$$\sum_{n=n_0}^{\infty} \frac{1}{\eta(n)} = \infty$$

and is in the noncanonical form, if

(1.2)
$$\sum_{n=n_0}^{\infty} \frac{1}{\eta(n)} < \infty.$$

In recent years, numerous researches analyzed oscillatory behavior of solutions to various classes of differential equations with deviating arguments (see, e.g, the papers [6] and [8]) and partial differential equations (see example given [13] and [15]), where oscillation and/or delay situations take part in models from mathematical biology and physics

2010 Mathematics Subject Classification. 39A10.

Received: 01.09.2021. In revised form: 23.11.2021. Accepted: 31.11.2021

Key words and phrases. Non-canonical equation, advanced argument, second-order, oscillation.

Corresponding author: S. L. Panetsos; spanetsos@aspete.gr

when their formulation include cross-diffusion terms. Recently, several criteria have been reported in the literature on the oscillation of (*E*) for the delay case, that is, $\sigma(n) \le n - 1$ while at the same time, either (1.1) or (1.2) holds. See, for example, [1, 4, 10, 11, 12, 14, 18] and the references cited therein. However, there are few oscillation results for the equation (*E*) with (1.1) by using comparison method and/or Riccati type transformation method, see for example [2, 3, 5, 7, 9, 16, 17, 20].

From the above observations, we see that most of the papers are devoted to the canonical type equations. This is because the canonical type equations are much easier to study than the noncanonical type. Therefore, in this paper, first we transform equation (E) into equivalent canonical type equation and then we derive new oscillation criteria for (E)using a new comparison principle for the advanced type equations.

2. MAIN RESULTS

Without loss of generality, we can study the nonoscillatory solutions of (E) by restricting our attention to positive solutions. It is known that the set of positive solutions of (E) has the following structure:

- (I) $\chi(n) > 0, \Delta \chi(n) > 0$ and $\Delta(\eta(n)\Delta \chi(n)) < 0$;
- (II) $\chi(n) > 0, \Delta \chi(n) < 0$ and $\Delta(\eta(n)\Delta \chi(n)) < 0$.

To overcome this, we transform (E) into the canonical form which essentially simplifies the study of (E).

Throughout this paper, we are going to use the following notation:

$$\Pi(n) = \sum_{s=n}^{\infty} \frac{1}{\eta(n)},$$

$$b(n) = \eta(n)\Pi(n)\Pi(n+1),$$

$$\mu(n) = \frac{\chi(n)}{\Pi(n)},$$

and

$$g(n) = \Pi(n+1)f(n)\Pi(\sigma(n)).$$

Lemma 2.1. Assume that $(C_1) - (C_3)$ hold. Then

(2.3)
$$\Delta(\eta(n)\Delta\chi(n)) = \frac{1}{\Pi(n+1)}\Delta\left(\eta(n)\Pi(n)\Pi(n+1)\Delta\left(\frac{\chi(n)}{\Pi(n)}\right)\right)$$

Proof. By a straightforward computation, we can show that (2.3) holds for any sequence $\chi(n)$. Indeed,

$$\begin{aligned} \frac{1}{\Pi(n+1)} \Delta \left(\eta(n) \Pi(n) \Pi(n+1) \Delta \left(\frac{\chi(n)}{\Pi(n)} \right) \right) \\ &= \frac{1}{\Pi(n+1)} \Delta \left(\eta(n) \Pi(n) \Pi(n+1) \frac{\eta(n) \Pi(n) \Delta \chi(n) + \chi(n)}{\eta(n) \Pi(n) \Pi(n+1)} \right) \\ &= \frac{1}{\Pi(n+1)} \Delta \left(\eta(n) \Pi(n) \Delta \chi(n) + \chi(n) \right) \\ &= \frac{1}{\Pi(n+1)} \left[\Pi(n+1) \Delta \left(\eta(n) \Delta \chi(n) - \Delta \chi(n) + \Delta \chi(n) \right) \right] \\ &= \Delta \left(\eta(n) \Delta \chi(n) \right). \end{aligned}$$

Moreover

$$\sum_{n=n_0}^{\infty} \frac{1}{\eta(n)\Pi(n)\Pi(n+1)} = \lim_{n \to \infty} \frac{1}{\Pi(n)} - \frac{1}{\Pi(n_0)} = \infty,$$

that is, the operator on the right hand side of (2.3) is canonical. The proof of the lemma is complete. $\hfill \Box$

As a consequence of Lemma 2.1, we see that (E) can be written in the equivalent form

$$\Delta\left(\eta(n)\Pi(n)\Pi(n+1)\Delta\left(\frac{\chi(n)}{\Pi(n)}\right)\right) + \Pi(n+1)f(n)\chi(\sigma(n)) = 0,$$

or

$$\Delta(b(n)\Delta\mu(n)) + g(n)\mu(\sigma(n)) = 0.$$
 (E₁)

The following result follows directly from the above discussion.

Theorem 2.1. The noncanonical difference equation (E) possesses a solution $\{\chi(n)\}$ if and only if the canonical equation (E_1) has the solution $\mu(n) = \frac{\chi(n)}{\Pi(n)}$.

Corollary 2.1. The noncanonical difference equation (E) has an eventually positive solution if and only if the canonical equation (E_1) has an eventually positive solution.

Corollary 2.1 significantly simplifies the study of (E) since using (E_1) , we deal with only a class of positive solutions, namely,

(2.4)
$$\mu(n) > 0, \ \Delta(\mu(n)) > 0, \ \Delta(b(n)\Delta\mu(n)) < 0.$$

This follows from Lemma 2.1 of [5].

To prove our oscillation results, let us assume that

(2.5)
$$b(n) \ge 1 \text{ for all } n \in \mathbb{N}(n_0).$$

We define

(2.6)
$$R(n;j) = \begin{cases} \sum_{s=n}^{\infty} g(s), & j = 0 \text{ for } n \ge n_0 \\ \sum_{s=n}^{\infty} \frac{R^2(s,j-1)}{R(s,j-1)+b(s)}, & j \ge 1 \text{ for } n \ge n_0 \end{cases}$$

and

$$G(n) = \sum_{s=n_0}^{n-1} \frac{1}{b(s)}$$

Theorem 2.2. Assume that (2.5) and

$$(2.7) G(n)\sum_{s=n}^{\infty}g(s) \ge \beta > \frac{1}{4}$$

eventually. Then all solutions of (E) are oscillatory.

Proof. From (2.7) and (2.6) for j = 0, we have $R(n, j) \ge \frac{\beta}{G(n)}$. Since $h(x) = \frac{x^2}{d+x}$ is increasing for x > 0 and d > 0, we have $h(R(n; 0)) \ge h(\frac{\beta}{R(n)})$ and therefore

$$\frac{R^2(n;0)}{R(n;0) + b(n)} \ge \frac{\frac{\beta^2}{G^2(n)}}{\frac{\beta}{G(n)} + b(n)} = \frac{\beta^2}{G(n)(\beta + b(n)G(n))}$$

In the above inequality, we have used that d = b(n). From (2.6) for j = 1, and using the above inequality, we obtain

$$R(n;1) = \sum_{s=n}^{\infty} \frac{R^2(s;0)}{R(s;0) + b(s)} + R(n;0) \ge \sum_{s=n}^{\infty} \frac{\beta^2 b(s) \Delta G(s)}{G(s)(\beta + b(s)G(s))} + \frac{\beta}{G(n)}.$$

385

To derive the above inequality, we have used that $b(n)\Delta G(n) = 1$. Since $\frac{\beta}{h(n)} \leq \beta$ for all $n \geq n_0$, it is obvious that

$$R(n;1) \ge \sum_{s=n}^{\infty} \frac{\beta^2 \Delta G(s)}{G(s)(\beta + G(s))} + \frac{\beta}{G(n)}.$$

On the other hand,

$$\sum_{s=n}^{\infty} \frac{\beta^2 \Delta G(s)}{G(s)(\beta + G(s))} \ge \int_{G(s)}^{\infty} \frac{\beta^2 ds}{s(\beta + s)} = \beta \ln\left(\frac{\beta + G(n)}{G(n)}\right).$$

Hence

$$R(n;1) \ge \frac{\beta}{G(n)} \ge +\beta \ln\left(\frac{\beta + G(n)}{G(n)}\right) = \frac{\beta_1}{G(n)}$$

where $\beta_1 = \beta + G(n)\beta \ln \left(\frac{\beta + G(n)}{G(n)}\right) > \beta$.

In general

$$R(n;j) = \sum_{s=n}^{\infty} \frac{\beta_{j-1}^2 \Delta G(s)}{G(s)(\beta_{j-1} + G(s))} + \frac{\beta}{G(n)} \ge \beta_{j-1} \ln\left(\frac{\beta_{j-1} + G(n)}{G(n)}\right) + \frac{\beta}{G(n)} = \frac{\beta_j}{G(n)}$$

where

(2.8)
$$\beta_j = \beta + G(n)\beta_{j-1} \ln\left(\frac{\beta_{j-1} + G(n)}{G(n)}\right)$$

It is easy to see that $\beta_i < \beta_{i+1}$ with $\beta = \beta_0$ for $j = 0, 1, 2, \dots$ Now we claim that $\lim_{j\to\infty} \beta_j = \infty$. If not, let $M = \lim_{j\to\infty} \beta_j < \infty$.

Then from (2.8), we obtain

$$M = \beta + G(n)M\ln\left(\frac{M+G(n)}{G(n)}\right) = \beta + M\left(M - \frac{M^2}{2G(s)} + \dots\right)$$

Letting $n \to \infty$, we have $G(n) \to \infty$ and the last equation yields

$$(2.9) M = \beta + M^2.$$

But equation (2.9) has no real solution if $\beta > \frac{1}{4}$. Hence $\lim_{j\to\infty} \beta_j = \infty$. Then, we see that $\lim_{j\to\infty} R(n;j) = \infty$. Thus from Theorem 1.11.5 of [1] it follows that

(2.10)
$$\Delta(b(n)\Delta\mu(n)) + g(n)\mu(n+1) = 0, n \ge n_0$$

is oscillatory. Now using Theorem 3.5 of [20], we see that (E_1) oscillates and hence (E) is oscillatory. The proof of the theorem is complete.

Remark 2.1. The above condition is independent of the advanced argument $\{\sigma(n)\}$ and thus, is more appropriate for (2.10).

In our next theorem, we assume the opposite condition of (2.7), namely

$$G(n)\sum_{s=n}^{\infty}g(s)\geq\beta \ \text{but}\ \beta\leq\frac{1}{4}$$

holds.

Theorem 2.3. Assume that (2.5) holds. Let $\{\mu(n)\}\$ be a positive solution of (E_1) and

(2.11)
$$G(n)\sum_{s=n}^{\infty}g(s) \ge \beta > 0,$$

eventually. Then there is an integer N such that for $n \ge N$, $\{\frac{\mu(n)}{G^{\beta}(n)}\}$ is monotonically increasing.

386

 \square

Proof. The proof is similar to that of Theorem 2.3 of [5] and hence, it is omitted.

Remark 2.2. Theorem 2.3 gives a new monotonic property for the positive solutions of (E_1) , ensuring that $\{\mu(n)\}$ is increasing and $\{\frac{\mu(n)}{G^{\beta}(n)}\}$ is also increasing. This property leads to improve oscillation criteria for second-order noncanonical advanced difference equations.

Next, we state a new comparison theorem for difference equations with advanced arguments.

Theorem 2.4. Assume that (2.5) and (2.11) hold. If the difference equation

(2.12)
$$\Delta(b(n)\Delta\mu(n)) + \left(\frac{G(\sigma(n))}{G(n+1)}\right)^{\beta}g(n)\mu(n+1) = 0$$

is oscillatory, then (E) is oscillatory.

Proof. Assume, for the sake of contradiction, that (E) has an eventually positive solution. Then, from Corollary 2.1, it follows that (E_1) has an eventually positive solution $\{\mu(n)\}$. Now equation (E_1) can be written as

$$\Delta(b(n)\Delta\mu(n)) + \left(\frac{G(\sigma(n))}{G(n+1)}\right)^{\beta}g(n)\mu(\sigma(n)) = 0.$$

Since $\frac{\mu(n)}{G^{\beta}(n)}$ is nondecreasing, and $\sigma(n) \ge n+1$, we have

$$\frac{\mu(\sigma(n))}{G^{\beta}(\sigma(n))} \ge \frac{\mu(n+1)}{G^{\beta}(n+1)}.$$

Using this relation in the last equation, we see that $\{\mu(n)\}\$ is a positive solution of the following inequality

$$\Delta(b(n)\Delta\mu(n)) + \left(\frac{G(\sigma(n))}{G(n+1)}\right)^{\beta}g(n)\mu(n+1) \le 0.$$

But by the result in [19], the corresponding difference equation (2.12) also has a positive solution, which leads to a contradiction. The proof of the theorem is complete. \Box

Remark 2.3. The above theorem ensures that any oscillation criterion obtained for (2.12), leads to an oscillation criterion for (E).

Theorem 2.5. Let (2.5) and (2.11) hold. Assume that there is a constant β_1 such that

(2.13)
$$G(n)\sum_{s=n}^{\infty} \left(\frac{G(\sigma(s))}{G(s+1)}\right)^{\beta} g(s) \ge \beta_1 > \frac{1}{4},$$

eventually. Then all solutions of (E) are oscillatory.

Proof. Condition (2.13) guarantees that (2.12) oscillates which in turn implies that (E_1) oscillates. But by Corollary 2.1, equation (E) oscillates. This completes the proof.

If condition (2.13) fails, that is, $\beta_1 \leq \frac{1}{4}$, then we derive the following new criteria, using the constant β_1 .

Theorem 2.6. Let (2.5) and (2.11) hold. Assume that $\{\mu(n)\}$ is a positive solution of (E_1) and

(2.14)
$$G(n)\sum_{s=n}^{\infty} \left(\frac{G(\sigma(s))}{G(s)}\right)^{\beta} g(s) \ge \beta_1 > 0$$

eventually. Then there is an integer N such that for $n \ge N$, $\{\frac{\mu(n)}{G^{\beta_1}(n)}\}$ is monotonically nondecreasing.

Proof. The proof is similar to that of Theorem 2.6 of [5] and hence the details are omitted. \Box

Theorem 2.7. Let (2.5), (2.11) and (2.14) hold. If the difference equation

(2.15)
$$\Delta(b(n)\Delta\mu(n)) + \left(\frac{G(\sigma(n))}{G(n+1)}\right)^{\beta_1} g(n)\mu(n+1) = 0$$

is oscillatory, then all solutions of (E) are oscillatory.

Theorem 2.8. Let (2.5), (2.11) and (2.14) hold. If there exists a constant β_2 such that

(2.16)
$$G(n)\sum_{s=n}^{\infty} \left(\frac{G(\sigma(s))}{G(s+1)}\right)^{\beta_1} g(s) \ge \beta_2 > \frac{1}{4}$$

eventually, then all solutions of (E) are oscillatory.

Theorems 2.7 and 2.8 can be proved similarly to Theorem 2.4 and 2.5. Thus, we omit the details of the proofs.

By repeatedly applying the above process, we can obtain progressively improved oscillation criteria. Assume that there is a positive constant λ such that

(2.17)
$$\frac{G(\sigma(n))}{G(n+1)} \ge \lambda > 1$$

eventually. Thus, using (2.5) and (2.11), conditions (2.14) and (2.16) can be rewritten in similar forms as

$$\beta_1 = \lambda^\beta \beta > \frac{1}{4}$$
$$\beta_2 = \lambda^{\beta_1} \beta > \frac{1}{4}$$

respectively. By repeating the above process, we can obtain an increasing sequence $\{\beta_j\}_{j=0}^{\infty}$ defined as follows:

(2.18)
$$\beta_0 = \beta$$
$$\beta_{j+1} = \lambda^{\beta_j} \beta_j$$

Now, we can generalize the oscillation criteria of Theorems 2.5 and 2.8, in the following theorem.

Theorem 2.9. Let (2.5), (2.11) and (2.17) hold. If there exists a positive integer ℓ such that $\beta_j \leq \frac{1}{4}$ for $j = 0, 1, ..., \ell - 1$, and

$$\beta_\ell > \frac{1}{4},$$

then all solutions of (E) are oscillatory.

3. EXAMPLES

In this section, we provide three examples to illustrate the main results.

Example 3.1. Consider the second-order advanced Euler type difference equation

(3.19)
$$\Delta(n(n+1)\Delta\chi(n)) + \lambda d\chi(\lambda n) = 0, \ n \ge 1,$$

where d > 0 and $\lambda \ge 2$ is an integer.

A simple calculation shows that b(n) = 1, G(n) = n - 1, and $g(n) = \frac{d}{n(n+1)}$. Now $d = \beta$, and by Theorem 2.5, equation (3.19) is oscillatory provided that

$$d\lambda^d > \frac{1}{4}.$$

For example, if $d = \frac{1}{5}$, then it is required that $\lambda \ge 4$ or conversely, for $\lambda = 2$, we need $d = \frac{1}{4}$.

Example 3.2. Consider again the difference equation (3.19). For this equation, we see that $\beta_1 = d\lambda^d$.

By Theorem 2.8, we see that (3.19) is oscillatory provided that

$$d\lambda^{\beta_1} > \frac{1}{4}.$$

Since $\beta_1 > d$, Theorem 2.8 implies Theorem 2.5. Now for $d = \frac{1}{5}$ we need $\lambda \ge 3$.

Example 3.3. Consider the second-order advanced type difference equation

(3.20)
$$\Delta(n(n+1)\Delta\chi(n)) + 0.422\chi(2n) = 0, \ n \ge 1$$

In this equation $\beta = \beta_0 = 0.211$ and $\lambda = 2$. By a straightforward calculation, we obtain

$$\beta_1 = 0.244$$
 and $\beta_2 = 0.249$.

Hence, Theorems 2.5 and 2.8 fail for (3.20). But

$$\beta_3 = 0.2509 > 0.25$$

and Theorem 2.9 guarantees the oscillation of (3.20).

Remark 3.4. The results obtained in [5] do not apply to the above examples, since the equations in these are of the Euler type.

4. CONCLUSION

In this paper, we have obtained new monotonic properties of the nonoscillatory solutions of second-order noncanonical advanced difference equations. Based on these, we have established new oscillation criteria for this form of equations. The results obtained in this paper are original and complement those in [2, 3, 5, 17, 7, 16, 20, 11, 10].

Acknowledgements: The authors would like to express their gratitude to the editor and the anonymous reviewers for their careful reading of the original manuscript and useful comments that helped to improve the presentation of the results. The third author was supported by the Special Account for Research of ASPETE through the funding program "Strengthening research of ASPETE faculty members".

References

- Agarwal, R. P.; Bohner, M.; Grace, S. R.; Regan, D. O'. Discrete Oscillation Theory. Hindawi Publ. Corp., New York, 2005.
- [2] Agarwal, R. P.; Bohner, M.; Li, T.; Zhang, C. Oscillation criteria for second order dynamic equations on time scales. *Appl. Math. Lett.* 31 (2014), 34–40.
- [3] Agarwal, R. P.; Zhang, C.; and Li, T. New Kamenev-type oscillation criteria for second-order nonlinear advanced dynamics equations. *Appl. Math. Comput.* 225 (2013), 822–828.
- [4] Bohner, M.; Hassan, T. S.; Li, T. Fite-Hilli-Wintner type oscillation criteria for second order half-linear dynamic equations with deviating arguments. *Indag. Math.* (N. S) 29 (2018), 548–560.
- [5] Chandrasekaran, E.; Chatzrakis, G. E.; Palani, G.; Thandapani, E. Oscillation criteria for advanced difference equations of second order. *Appl. Math. Comput.* 372 (2020), 124963.

- [6] Chiu, K. S.; Li, T. Oscillatory and periodic solutions of differential equations with piecewise constant generalized mixed arguments. *Math. Nachr.* bf 292 (2019), 2153–2164.
- [7] Dinakar, P.; Selvarangam, S.; Thandapani, E. New oscillation conditions for second order halflinear advanced difference equations. *Inter. J. Math. Engg. Manag. Sci.* 4 (2019), 1459–1470.
- [8] Dzurina, J.; Grace, S. R.; Jadlovska, I.; Li, T. Oscillation criteria for second order Emden-Fowler delay differential equations with a sublinear neutral term. *Math. Nachr.* 293 (2020), 910–922.
- [9] Dzurina, J. Oscillation of second order advanced differential equations. *Electron. J. Qual. Theory Differ. Equ.* 2018, no. 20, 9 pp.
- [10] Grace, S. R.; Alzabut, J. Oscillation results for nonlinear second order difference equations of mixed neutral terms. Adv. Difference Equ. (2020), no. 1, 1–12.
- [11] Grace, S. R.; El-Morshedy, H. A. Oscillation criteria of comparison type for second order difference equations. J. Appl. Anal. 6 (2000), 87–103.
- [12] Han, Z.; Li, T.; Sun, S.; Zhang, C. Oscillation of second order nonlinear delay dynamic equations on time scales. Adv. Difference Equ. 2009 (2009), 756171.
- [13] Li, T.; Pintus, N.; Viglialoro, G. Properties of solutions to porus medium problems with different sources and boundary conditions. Z. Angew. Math. Phys. 70 (2019), no. 3, 1-18.
- [14] Li, T.; Saker, S. H. A note on oscillation criteria for second order neutral dynamic equations on isolated time scales. *Commun. Nonlinear Sci. Numer. Simul.* 19 (2014), 4185–4188.
- [15] Li, T.; Viglialoro, G. Boundedness for a nonlocal reaction chemotaxis model even in the attraction dominated regions. *Differential Integral Equations* 34 (2021), 315-336.
- [16] Ocalan, O.; Akin, O. Oscillatory property for advanced difference equations. Novi. Sad. J. Math. 37 (2007), 39–47.
- [17] Ping, B.; Han, M. Oscillation of second order difference equations with advanced arguments. Conference Publications, Amer. Inst. Math. Sciences (2003), 108–112.
- [18] Wu, H.; Erbe, L.; Peterson, A. Oscillation of solutions to second order delay dynamic equations in time scales. *Electron. J. Differential Equations* 71 (2016), 1–15.
- [19] Zhang, G.; Geo, Y. Positive solutions of higher order nonlinear difference equations. Syst. Sci. Math. Sci. 19 (1999), 157–167.
- [20] Zhang, Z.; Li, Q. Oscillation theorems for second order advanced functional difference equations. *Comput. Math. Appl.* 36 (1998), 11–18.

¹DEPARTMENT OF ELECTRICAL AND ELECTRONIC ENGINEERING EDUCATORS SCHOOL OF PEDAGOGICAL AND TECHNOLOGICAL EDUCATION MAROUSI 15122, ATHENS, GREECE Email address: gea.xatz@aspete.gr, geaxatz@otenet.gr, spanetsos@aspete.gr

²DEPARTMENT OF MATHEMATICS PRESIDENCY COLLEGE, CHENNAI - 600 005. INDIA *Email address*: indrajithna@gmail.com

³RAMANUJAN INSTITUTE FOR ADVANCED STUDY IN MATHEMATICS UNIVERSITY OF MADRAS CHENNAI - 600 005, INDIA *Email address*: ethandapani@yahoo.co.in